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[image: image2.jpg]2. What kinds of special instruments could also be used to make indirect observations of

the contents of the box?

3. If you used some of the special instruments you mentioned and the results did not
agree with your previous determination of the contents of the box, what would you

need to do?

H e a model of the object inside the box?

§ What senses did you use to determin¢

1V 0! re with the wa' scientists have learned & ut the
5 ds this kind of activit compal 1 y h Jearned about th
. How does Yy P

atom?

lp What does this tell you about the current model?





